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Maths Homework

7.1.19
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Hint 1: 6 times tables are just the 3 times tables doubled!
So if you are not sure what 6 x 4 = just do 3 x 4 then double it!

Hint 2: Remember division is the inverse (opposite) to multiplication.

When you are dividing, just count up in 3's or 6's until you get to the
largest number e.g. 18 + 3 = (count up in 3's until you reach 18 and
that's the answer ©)

Times Tables

15+ 3=

Ix10= 6w 7= 9
3x9= 6% 2= 4 +3=
IxT1= 6x12= 66 + 6 =
Ik 5= 6% 10 = 72 + 6=
Ix11= B 6
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54 + 6 =

27+ 3=

48 + 6 =

33+ 3=

2d+ 6=
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